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PISA 2022 RELEASED MAIN SURVEY MATHEMATICS
ITEMS

Introduction

This report presents and describes the four new mathematics units that were approved for
release by the Mathematics Expert Group (MEG) and the OECD following the PISA 2022
Main Survey. There are 10 items distributed across the four units. The report contains
screenshots of the English-master version and the French-master version of each released
item.

Following each screenshot is a description of the scenario and the question the student
had to answer, information on possible ways that students could have solved each
problem, and where applicable, details on item functionality. Classification information from
the framework (i.e., content area, cognitive process, and context), the item format, the
correct answer or coding rules, and the proficiency level (i.e., the level at which students
are expected to have a 0.62 probability of responding correctly to the item), are included in
a table following each description. For human-coded items, the coding rubric is also
included.

About the PISA 2022 Main Survey Mathematics Assessment and the Released Items

The PISA 2022 Main Survey mathematics assessment was composed of items embedded
within units. The unit sets the context for the mathematical problem(s) to be solved. Each
mathematics unit contained from one to five items.

The PISA 2022 computer-based Main Survey mathematics assessment was composed of
74 trend items, distributed across 43 trend units, and 160 new items, distributed across 56
new units. The new units were developed to represent the PISA 2022 Mathematics
Framework in combination with the trend units.

There was also a paper-based component of the PISA 2022 Main Survey, which contained
two different instruments: an “old” instrument (administered by one country that has
participated in multiple cycles of PISA), and a “new” instrument that was administered by
three new participants to this cycle of PISA. The old paper instrument contained 71
mathematics items, distributed across 40 units, and the new paper instrument contained
63 mathematics items distributed across 44 units. Both the old and the new paper
instruments contained items common to each other, as well as common to the trend
computer-based items, but none of the new mathematics items were administered on
paper. There were no units released from the paper-based assessment.

The released units included in this document represent a subset of the computer-based
mathematics items that, while still representing the PISA 2022 mathematics framework,
were not selected to be included in the PISA 2025 assessment.



Table 1 below presents a summary of the items from the four units in this report, including
their classifications according to the PISA 2022 Framework, the proficiency level for a full-
credit response, and where applicable, the proficiency level for a partial-credit response.
Updated proficiency-level descriptors are available in the PISA 2022 Technical Report.

The levels range from easiest (Level 1) to most difficult (Level 6), with Level 1 further

classified as Levels 1c, 1b and 1a, where Level 1c is easiest and Level 1a is slightly more

difficult.

Table 1. Released Main Survey Mathematics Items
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Released Units — English

Unit CMA123 - Solar System

CMA123Q01

pisa2022 | MEEEEN

SOLAR SYSTEM

Solar System
Question 1/ 2

The table below shows the average distance from the Sun to the primary planets in
Refer to “Solar System” on the right. Use drag and drop fo Astronomical Units (au).

answer the guestion.

. X 1 au is approximately 150 million kilometres
The following model shows the average distances between

three planets. (Planets and model not drawn to scale.)

- — - Planet Average distance from Sun
. -~ "
\- \-‘ X inau
e PR P
! Y 438au Y, 962au f R IMercury 0.39
Pkt | 1

{\ ] \ ’!‘ >y Jl

. 4 AN ’ k. I Venus 0.72

~ - - - -

s
- - -
/ / / Earth 1.00

Based on the distances given, which planets belong in the

model? Drag the correct three planets in the correct order. To KBTS iz
change an answer, first drag the previous planet out
g ' gthep P Jupiter 5.20
Uranus 19.20
Mercury Venus Earth
Q é Neptune 30.05
Jupiter Saturn
Uranus Meptune

This is the first item in the unit Solar System. There is no introduction screen for this unit.
For this task, students need to determine which three planets have the average distances,
in Astronomical Units (au), between them that are shown in the model. To do this, students
need to use the table in the stimulus that gives each planet’s average distance from the
Sun, in au. The correct answer, from left to right, is Jupiter, Saturn, Uranus.

To respond to the question, students have to drag-and-drop the planets into the model
(see below for an image of the planets placed in the model). There is no introduction or
practice screen before this item but instructions for how to respond and change a response
are given explicitly in the question stem. A full-credit response was given for correctly
placing all three planets, and partial credit was given for correctly placing any two planets.
This is a moderately difficult item with both full and partial credit being at Level 3 on the
proficiency scale.



Below is an image of what the question stem and response area look like after the student
has dragged-and-dropped the planets into their respective locations in the model.

Solar System
Question 1/2

Refer to “Solar System” on the right. Use drag and drop to
answer the question.

The following model shows the average distances between
three planets. (Planets and model not drawn to scale.)

e S

- ~ ,/ -~ ,/ -~
/ \ 4.38au [/ 9.62 au / \
( 4 1 T >4 |
\ U 4 \ /

’ N ’
N 1.d N S
Jupiter Saturn Uranus
/ _/./ //

Based on the distances given, which planets belong in the
model? Drag the correct three planets in the correct order. To
change an answer, first drag the previous planet out.

Mercury Venus Earth

Mars

Neptune

Unit Name - Item #

Solar System — CMA123Q01

Content Area

Quantity

Process Interpret/Evaluate

Context Scientific

Item Format Complex Multiple Choice - Computer Scored

Answers Full Credit: All three planets are correctly placed (from left to right: Jupiter, Saturn, Uranus)

Partial Credit: Any two planets are correctly placed (other planet is incorrect or missing)

Proficiency Levels

3 (full credit)
3 (partial credit)




CMA123Q02

pisa2o22 | MEENER

Solar System
SOLAR SYSTEM

Question 2/ 2

The table below shows the average distance from the Sun to the primary planets in
Refer to “Solar System” on the right. Click on a choice fo Astronomical Units (au).

answer the question.
1 au is approximately 150 million kilometres.

On average, approximately how many million kilometres from

the Sun is the planet Neptune? Planet Average distance from Sun
B inau
(5 million km
30 million km Mercury 0.39
) 180 million km
_ Venus 072
(4500 million km
Earth 1.00
Mars 1.52
Jupiter 5.20
Satum 9.58
Uranus 19.20
Neptune 30.05

For the second item in this unit, students have to determine approximately how many
million kilometres the planet Neptune is from the Sun, a process that requires converting
Astronomical Units to millions of kilometres. From the stimulus, students are given the
conversion that 1 au is approximately 150 million kilometres, and they can read from the
table that Neptune has an average distance from the sun of 30.05 au. To determine
Neptune’s approximate distance in million kilometres, students need to multiply 30.05
times 150. This gives a result of 4,507.5, which rounds to 4500 (million km). This is a Level
2 (easier) item for students that only requires employing a process for converting units
based on the given information.

Unit Name — Item # | Solar System — CMA123Q02

Content Area Quantity

Process Employ

Context Scientific

Item Format Simple Multiple Choice - Computer Scored
Answer 4500 million km

Proficiency Level |2




Unit CMA150 - Triangular Pattern

CMA150Q01

pisa2o22 | HEENER

Triangular Pattern TRIANGULAR PATTERN
QESLNUE Alex drew the following pattern of red and blue triangles.
Refer to “Triangular Pattern” on the right. Glick on a choice to The first four rows of the pattern are shown below.

answer the guestion.

What percentage of the triangles in the first four rows of Alex's
pattern are blug?

O 37.5%
O 50.0%
O 60.0%
O 62.5%

grd

4™ oy

This is the first item in the unit Triangular Pattern and there is no introduction screen. For
this unit, students are presented with a series of items related to a drawing a person has
made of rows using alternating red and blue triangles. The stimulus shows the first four
rows of the pattern, and this same image is repeated in the stimulus of all three items in
the unit.

For the first item, students are asked to compute the percentage of blue triangles shown in
the first four rows of the pattern. There are six blue triangles and 16 total triangles, so the
percentage of blue triangles is 37.5% (6 + 16 = 0.375). This is an easy item (Level 1a) and
is intended to get students thinking about the pattern by employing a simple algorithm with
all information shown.



Unit Name — Item # | Triangular Pattern - CMA150Q01
Content Area Quantity

Process Employ

Context Scientific

Item Format Simple Multiple Choice - Computer Scored
Answer 37.5%

Proficiency Level la

10




CMA150Q02

pisa2o22 | MEENER

Triangular Pattern TRIANGULAR PATTERN
S e Alex drew the following pattern of red and blue triangles.
Refer to “Trianguiar Pattern” on the right. Click on a choice to The first four rows of the pattern are shown below.

answer the guestion.

I Alex were to extend the pattern to a fifth row, what would be
the percentage of blue triangles in all five rows of the pattern?
O 40.0%
O 50.0%

O 60.0%
O 66.7%

grd

4™ oy

The second item in the unit builds off the first item by again asking students to compute the
percentage of blue triangles, but this time it is based on five rows of the pattern. Since the
fifth row is not shown, students have to extend the pattern by one row to determine new
values for the number of blue triangles and the total number of triangles. With five rows,
the percentage of blue triangles is 40.0% (10 blue triangles + 25 total triangles).

This item is intended to be easy and to get students thinking about extending the pattern
beyond what is shown, but not extending the pattern so that it requires generalising. This is
a Level 2 item, so it is slightly more difficult than the first item in the unit, possibly because
it requires working with a part of the pattern that is not shown but is still an overall easy
item for students.

11



Unit Name — Item # | Triangular Pattern — CMA150Q02
Content Area Change and relationships

Process Formulate

Context Scientific

Item Format Simple Multiple Choice - Computer Scored
Answer 40.0%

Proficiency Level |2

12




CMA150Q03

pisa2o22 | MEENER

Triangular Pattern TRIANGULAR PATTERN
e Alex drew the following pattern of red and blue triangles.
Refer to “Trianguiar Pattern” on the right. Click on a choice The first four rows of the pattern are shown below.

and then type an explanation o answer the guestion

o _
He claims that the percentage of blue triangles in the pattern
will always be less than 50%

Is Alex correct?

O Yes
) Mo

Explain your answer

grd

4™ oy

This is the final item in this unit, and it builds off the previous two items to now generalise
with the pattern. The task for the students is to evaluate a claim that the percentage of blue
triangles in the pattern will always be less than 50% as more rows are added. Students
have to select either “Yes” or “No” to indicate if the claim is or is not true, but then they also
have to provide an explanation to support their selection. This is a reasoning item that
requires students to analyse the pattern to recognise a relationship between the number of
red and the number of blue triangles in each row, and then use that relationship to support
their selection.

The correct selection is “Yes,” that the claim is true, and an acceptable explanation
recognises that the number of red triangles in each row will always be greater than the
number of blue triangles in each row. Note that students can phrase their response in
terms of either the number of blue triangles being fewer or the number of red triangles
being greater, as long as there is some language indicating that this relationship is true for
every row. Partial-credit responses to this item generally either focus on just the first row,
which contains only a red triangle, or do not clearly communicate that the relationship
between the number of each color triangle applies to every row.

13



This is a human-coded item (the coding rubric is shown below) that is difficult (Level 5) for
students to provide a full-credit response. There is partial credit available, but that is still
moderately difficult (Level 4) for students. Note that the coding rubric does not contain an
exhaustive list of responses at any credit level. However, the sample responses in the
rubric are representative of how students typically respond to this item.

Unit Name — Item # | Triangular Pattern — CMA150Q03

Content Area Change and relationships
Process Reasoning

Context Scientific

Iltem Format Open Response - Human Coded
Answer Refer to rubric below

Proficiency Levels | 5 (full credit)
4 (partial credit)

Full Credit

Code 2: Selects Yes and provides an acceptable explanation for why there will always be
more red (or fewer blue) triangles. [An acceptable explanation must state “in
each row” (or use similar wording for that concept).]

e He is correct because there is always one more red triangle than blue
triangle in each row. [Selection of “Yes” is implied here.]

e [Yes] There will always be one less blue triangle in each row.

e [Yes] There is one more red triangle than blue in each row. [Benefit of the
doubt given for not specifying “always” in the response since it is already
stated in the question stem.]

e [Yes] Because red triangles are on the outside of each row and inside it
alternates red and blue triangles. [Acceptable explanation that establishes
there are more red than blue in each row.]

Partial Credit

Code 1. Selects Yes and explanation is partially correct but incomplete.
e [Yes] Because the first row has only a red triangle.
e [Yes] There are no blue triangles in the first row.
e [Yes] There is one more red triangle than blue triangle. [Response does not
specify “in each row”. Compare to Code 2, dot point 3.]
e [Yes] Because red triangles are on the outside of each row and the blue
triangles stay inside. [Explanation is incomplete because the red triangles in
the interior are not addressed. Compare to Code 2, dot point 4.]
No Credit
Code 0: Other responses, including selecting Yes but giving an incorrect explanation or
without giving an explanation OR selecting No with or without an explanation.
e [Yes]red =62.5% and blue = 37.5%. [Percentage of each colour triangle in
the first four rows.]
e [Yes].

Code 9: Missing
14



Unit CMA156 — Points

CMA156Q01

pisa2022 | MEEEEN

POINTS

Points
Question 1/ 1

The following headlines about the Zedland basketball team appeared in the local
newspaper.

Refer to “Points” on the right. Glick on a choice and then type
an explanation to answer the question

Given the average margin of victory for the season, is it
possible that the team never actually won a game by 19 ZEDLAND TIME S

points?

O Yes
Basketball Team Wins
Mo
o Championship!

Explain your answer.
= Wan every game this
season.

« Averaged a 19-point margin
of victory this season.

Margin of victory is the difference between the number of points scored by
the winning team and the number of points scored by the losing team in
one game.

This is the unit Points and it is another single-item unit with no introduction screen. For this
item, students are presented with a newspaper headline about a local basketball team,
which notes that the team won every game this season, and that they averaged a 19-point
margin of victory this season. The definition of margin of victory is also given in the
stimulus in cases students are not familiar with the term. The question asks is if it is
possible that the team never actually won a game by 19 points given that the average
margin of victory for the season is 19 points. This is an abstract reasoning item that
requires students to evaluate a conjecture based on their conceptual understanding of an
average (i.e., an arithmetic mean). They have to select either “Yes” or “No” and provide an
explanation to support their selection.

15



The correct selection is “Yes” that it is possible that the team never actually won a game
by 19 points, even though 19 is the average margin of victory. Students can respond by
recognising that the mean does not have to be a member of the data set, or they can
provide an example data set that has a mean of 19 but which does not contain 19 in the
data set. Note that for this latter approach, students can also provide a counterexample
based on a value other than 19 because it still represents an appropriate line of reasoning
in this context. For example, the arithmetic mean of the data set 6, 9, and 15 is 10, even
though 10 is not a member of the data set. Partial-credit responses address the idea that
some values in the data set must be greater and some values in the data set must be less
than the mean, but do not explicitly mention that the mean does not have to be a member
of the data set.

This is also a human-coded item (the coding rubric is shown below) that is very difficult for
students to provide a full-credit response to (Level 6 on the proficiency scale). There is
partial credit available, but that is also difficult (Level 5 on the scale). The abstract nature
of this task may have contributed to the difficulty. That is, students do not have numerical
values they can manipulate to know what really happened, so they are forced to reason
based on their understanding of a concept in order to devise a way to explain this with
respect to the context. Note that the coding rubric does not contain an exhaustive list of
responses at any credit level. However, the sample responses in the rubric are
representative of how students typically respond to this item.

Unit Name — Item # | Points —- CMA156Q01

Content Area Uncertainty and data

Process Reasoning

Context Societal

ltem Format Open Response - Human Coded
Answer Refer to rubric below

Proficiency Levels | 6 (full credit)
5 (partial credit)

Full Credit

Code 2: Selects Yes and explanation states or shows that the average does not have to
be a member of the data set.

e Itis possible because the average does not actually have to be one of the
values in your data set. [Selection of “Yes” is implied here.]

e [Yes] If the margins of victory create an average of 19, there doesn't
necessarily have to be a 19-point margin of victory in any of them. [Full credit
for, “...there doesn't necessatrily have to be a 19-point margin of victory in
any of them”.]

e [Yes] If one difference was 16 points and another was 22 points, then the
average difference would be 19 points, but 19 was not one of the
differences.

e [Yes] The mean of the numbers 2, 4, and 9 is 5 but 5 is not one of the
numbers.

16



Partial Credit

Code 1. Selects Yes and explanation is partially correct but incomplete.

No Credit

[Yes] It is an average difference, so some games were won by more than 19
points and some games were won by fewer than 19 points. [Incomplete;
does not explicitly state that 19 does not need to be one of the values. For a
response like this to receive partial credit, winning by both more and by less
than 19 points must be explicitly stated in the response.]

Code 0: Other responses, including selecting Yes but giving an incorrect explanation or
without giving an explanation OR selecting No with or without an explanation.

[No] They need to have won at least one game by 19 points.

[Yes].

[Yes] Because the average is all of their margins of victory for the season
added together then divided by the number of games they played that
season. [Unacceptable explanation that only describes how to compute a
mean.]

[Yes] Because it is just an average. [No reason given for why an average
means it is possible they never actually won a game by 19 points.]

[Yes] It is an average difference, so some games were won by more than 19
points. [Unacceptable because winning by less than 19 points was not also
explicitly stated in the response.]

Code 9: Missing

17



Unit CMA161 — Forested Area

Introduction

PISA 2022

Forested Area
Introduction

Read the introduction. Then click on the NEXT arrow.

FORESTED AREA

In this unit you will be using a spreadsheet to answer questions
related to the following situation:

A forest is an ecosystem in which
a variety of trees, plants, and
animals can be found.

The amount of forested area in a
country can change over time.

On the next screen, you will practise using the spreadsheet.

This is the introduction to the unit Forested Area, which provides students with some
background information about the context of the unit — that the amount of forested area in
a country can change over time — and lets them know that they will be using a spreadsheet
tool to assist with answering the questions.

18



Practise

pisazo22  HEEEER

Forested Area FORESTED AREA

Practise The spreadsheet below shows the amount of forested area as a percentage of the total

land area in each of the 15 countries in this data set. Data are shown for the years
‘You are now going to practise using the spreadsheet before 2005, 2010, and 2015
continuing on to the questions.

Column A Column B ColumnC ColumnD ColumnE ColumnF Column G
Use the spreadsheet to complete the following three actions. > id id =l hdl ] Ll
oOX | oX | oX
1 Soracolumn. Country 2005 2010 2015
. . Algeria 0.64 031 082
= Click on the & symbol in Column B, C, or D to sort that o
column in ascending (low o high) order. Armenia n 1.74 nr
= Note that all the columns will sort based on the way any Colombia 54.26 52.85 5273
one column is sorted. Germany 32.66 1273 3276
Greece 2011 3028 3145
2. Perform a calculation India 277 23.47 2377
= Select a column from the first drop-down menu located Kazakhstan 124 123 123
betow the spreacsheet Lebanen 13.34 13.38 13.42
= Next, select an operation from the middle drop-down : 2 2
menu Panama 64.33 63.21 62.11
= Then select a column from the last drop-down menu Peru 59.01 58.45 57.79
= Click on “Run.” Portugal 3652 3588 3525
= The resuits will display in the first available empty Senegal 45.05 4401 4297
column South Korea 64.42 64.08 63.69
3. Display the mean (average) of a column Thailand gLl SLE] i
« Select a column from the drop-down menu next to United States 33.26 387 3385
“Mean,” located below the spreadsheet
= Click on “Run.” Calculate
= The result will display in the cell below that column. ol ‘ ‘ Operation ~ | | GColumaliE |

Clickon J»» to continue. Hean [ Run |

After the introduction screen, students come to a practise screen where they must perform
several actions to familiarise themselves with the functionality of the spreadsheet. The
actions include sorting any column, performing a calculation (adding, subtracting,
multiplying, or dividing) with the data in any two columns, and generating the mean of any
column. Each action comes with instructions for how to use the tool to complete that
action, and each action must be completed before the next action is shown (for
convenience, they are all shown in this image). The arrow to advance to the next screen
only becomes active once all three actions have been completed. Note that the data that
students are using in the practise screen is the same data that is used in the unit.

If students get confused about what to do on this screen and are inactive for a certain
amount of time, a pop-up message appears to remind them of the action that they need to
perform. If another period of inactivity elapses after the pop-up message appears, then an
animation shows how to perform each action. Once all of the animations have run, the
students can advance to the next screen.

S



Instruction

pisa2o22 | HNENER

Forested Area FORESTED AREA
Instruction

The spreadsheet below shows the amount of forested area as a percentage of the total
land area in each of the 15 countries in this data set. Data are shown for the years
2005, 2010, and 2015

Instructions for how to use the spreadsheet are available in
each question.

They are located in a menu called “How to Use the Column A ColumnB ColumnC ColumnD ColumnE ColumnF ColumnG
Spreadsheet” that can be opened and closed. . b b b 52 = ¥
Click on the bar below to open the instructions. Click on the Country 2005 2010 2015 oK oK o X
bar again 1o close the instructions. Algeria 064 081 082
How to Use the Spreadsheet Armenia 11.77 11.74 "7
1. Click on & to sort a column In ascending (low to high) Colombia 5426 2D T
order. Click on the icon again to sort the column in Germany 32.66 3273 3278
descending (high to low) order. Greece 2011 3028 31.45
2. To perform calculations: India 2277 2347 2377
I Select a column from the first d_rop-down menu. Kazakhstan 124 193 123
ii. Select an operation from the middle drop-down menu.
iii. Select a column from the last drop-down menu. Lebanon ) e B
iv. Click on *Run.” Panama 64.33 6321 6211
The results will display in the first available empty column Feru 59.01 58.45 57.79
3. To display the mean (average) of a column, select a Portugal 36.52 3588 3525
column from the drop-down menu and click on “Run.” The Senegal 45.05 4401 4297
result will display in the cell below that column. South Korea 64.42 64.08 =i
4. To undo an action in a column, click on €. Thailand 3151 3181 221
5. To clear a column, click on X. United States 3326 337 3385
5. To completely clear the spreadsheet, click on “Clear All."
Calculate

Column v| | Operation " ‘ Column v|

Mean __Column - m Clear All

After the practise screen, students come to an instruction screen, which is just to let them
know that instructions for using the spreadsheet are available in each item and can always
be accessed by clicking on the bar with the text, “How to Use the Spreadsheet”. Clicking
on this bar opens the list of instructions, as shown above. Clicking on the bar again closes
the list of instructions.

As with the practise screen, students are not allowed to advance past this screen until they
have performed the action (i.e., opened the instructions). Again, if there is a period of
inactivity, then a pop-up message reminds students of the action they need to perform. If
they still do not perform the action, then after another short period of time, an animation
plays. After the animation plays, students can advance to the first item in the unit.
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CMA161Q01

pisazo22 | HAEEEN

EolEaiealnies FORESTED AREA
Question 1/ 4 The spreadsheet below shows the amount of forested area as a percentage of the total
land area in each of the 15 countries in this data set. Data are shown for the years
+ How to Use the Spreadsheet ‘ 2005, 2010, and 2015
Column A Column B ColumnC ColumnD ColumnE ColumnF ColumnG
Refer to “Forested Area” on the right. Use the spreadsheet to ~ Ea Ea Ea - Ea Ea
heip you answer the question beiow. Select from the drop-
down menus to answer each question LTI S L Sl DX | OXR | 9OR
Greece 2011 3028 31.45 234
In the table below, answer each question by selecting a India 22 247 B 00
country from the corresponding drop-tdown menu United States 3326 337 33.85 0.59
Thailand 31.51 31.81 321 0.59
Question Country Algeria 064 081 082 018
In terms of percentage points, which Germany W W T 010
country had the greatest gain between | Select - | Lebanen 13.34 13.38 13.42 0.08
2005 and 20157 Armenia 1.77 1174 177 0.00
Which country had no overall change ek - Kazakhstan 2 12 12 oot
between 2005 and 20152 _ South Korea 64.42 64.08 6360 073
- Peru 59.01 5845 57.79 122
In terms of percentage points, which
country had the greatest loss between Portugal i e oAy 127
2005 and 2015? Colombia 5426 5285 52.73 -1.53
Senegal 45.05 4401 4207 208
Panama 64.33 63.21 62.11 -2.22
Calculate
Column D V‘ | Subtract '| | Column B v| m

The data used for all items in this unit are the amount of forested area as a percentage of
the total land area for 15 countries for the years 2005, 2010, and 2015, and those data are
always in columns B, C, and D, respectively. Columns E, F, and G are always empty when
the students first navigate to each item, and the default ordering of the countries is
alphabetical, based on how the country names are translated in each language. Note that
in the image above, the data has been manipulated already to correspond to the
description of the solution that follows.

The first item in the unit asks the students to identify, in terms of percentage points, the
three countries that between 2005 and 2015 had: the greatest gain in its percentage of
forested area, no overall change in its percentage of forested area, and the greatest loss in
its percentage of forested area. Responses are entered in each row of the table via drop-
down menus that contain the name of all 15 countries.

One possible solution method, which is reflected in the image above, is to use the
spreadsheet to perform the following calculation: “Column D subtract Column B,” which
subtracts the percentage of forested area in 2005 from the percentage of forested area in
2015 for each country. The results of that operation are shown in column E. Next, a
student may choose to sort the data in Column E to make it easier to identify each country.
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The country with the greatest gain is the country with the largest positive result, which is
Greece at 2.34 percentage points; the country with no overall change is the country with a
difference of 0.00, which is Armenia; and the country with the greatest loss is the country
with the smallest negative result, which is Panama at -2.22 percentage points.

A full-credit response is correctly identifying all three countries and scaled at Level 5,
meaning it was a difficult task for students. Partial credit was given for correctly identifying
any two countries, and that was still a moderately difficult task that scaled at Level 4, which
is not surprising given that partial credit still requires doing the same work as a full-credit
response. That is, to identify any two or three countries correctly, students need to
determine what calculation(s) to perform, how to use the spreadsheet to perform them,
and lastly interpret the results with respect to the context.

Also, depending on the order that the student performs the calculation, identifying the
countries could be more difficult. For example, if the student calculates “Column B subtract
Column D” (instead of “Column D subtract Column B”), then the sign of each result that
appears in column E will be reversed (e.g., Greece = -2.34 and Panama = +2.22).
However, based on these data, the percentage of forested area for Greece actually
increased for each year shown, and the percentage of forested area for Panama actually
decreased for each year shown.

Unit Name — Item # | Forested Area — CMA161Q01

Content Area Uncertainty and data

Process Formulate

Context Societal

Iltem Format Complex Multiple Choice - Computer Scored

Answers Full Credit: All three countries are correctly identified (from top to bottom:

Gained = Greece; No overall change = Armenia; Loss = Panama)

Partial Credit: Any two countries are correctly identified (other country is
incorrect or missing)

Proficiency Levels | 5 (full credit)
4 (partial credit)
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CMA161Q02

pisazoze | HEHEEN

Forested Area FORESTED AREA
Question 2/ 4

The spreadsheet below shows the amount of forested area as a percentage of the
total land area in each of the 15 countries in this data set. Data are shown for the

» How to Use the Spreadsheet ‘ years 2003, 2010, and 2015.
Column A ColumnB ColumnC ColumnD ColumnE ColumnF ColumnG
Refer to “Forested Area”on the right. Use the spreadsheet to - 5l ! Lal Lal al Lal
help you answer the question below. Click on a choice fo
answer the question. Country 2005 2010 2015 OX | OX | oOX
Algeria 0.64 0.81 0.82 017 0.01
Consider the two time periods: 2005 to 2010 and 2010 to Armenia T LG L 003 003
2015 Colombia 54.26 52.85 5273 -1.41 012
Germany 32.66 3273 3276 0.07 0.03
Which one of the following statements correctly describes the p ot S S 17 17
mean change in the percentage of forested area for both reece : - : : :
time periods? India 2277 2347 2377 0.70 0.30
Kazakhstan 124 123 123 -0.01 0.00
(O The mean change was positive for both time periods.
] ) ] Lebanon 13.34 13.38 1342 0.04 0.04
() The mean change was negative for both l|me pen?ds_ Panama T == o a1z 10
() The mean change was the same for both time periods. Peru 59.01 845 5779 055 065
() The mean change was.posnwg for one time period, and Portugal 2652 2520 1508 063 064
negative for the other time period.
Senegal 45.05 44.01 4297 -1.04 -1.04
South Korea 64.42 64.08 63.69 -0.34 -0.39
Thailand 31.51 31.81 321 0.30 0.29
United States 33.26 337 33.85 0.44 015
3333 33.18 33.05 -0.15 013
Calculate

ColumnD ~ | | Subtract V‘ | ColumnC = | m

In the second item in this unit, students are told to consider the data in terms of two time
periods, 2005 to 2010 and 2010 to 2015, and then asked to identify the statement that
correctly describes the mean change in the percentage of forested area for each time
period.

One possible solution method is to have the spreadsheet compute the mean of Columns
B, C, and D and just notice that it decreased from 2005 to 2010 (from 33.33 down to
33.18) and that it also decreased from 2010 to 2015 (from 33.18 down to 33.05). Since the
mean change decreased in each time period, the correct answer is that “The mean change
was negative for both time periods.”

Students may also choose to perform a sequence of operations, such as:

e “Column C subtract Column B” (the results of that operation are shown in Column E),
which represents the change in the percentage of forested area for the time period
2005 to 2010.

o “Column D subtract Column C” (the results of that operation are shown in Column F),

which represents the change in the percentage of forested area for the time period
2010 to 2015.

e Compute the mean of Columns E and F.
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This is a difficult item that scaled at Level 5 on the proficiency scale. Students again have
to devise a strategy for using the spreadsheet but this time there is more flexibility in how
the spreadsheet can be used before having to interpret the results. Possibly contributing to
the difficulty of this item is having to correctly interpret “change” in the context of the
problem, when the results can be either positive or negative depending on what operations
the student performs, and the order in which they perform them.

Unit Name — Item # | Forested Area — CMA161Q02

Content Area Uncertainty and data

Process Interpret/Evaluate

Context Societal

Item Format Simple Multiple Choice - Computer Scored

Answer The mean change was nhegative for both time periods.
Proficiency Level 5
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CMA161Q03

pisazoze | HEHEEN

Forested Area
Question 3/ 4

+ How to Use the Spreadsheet

Refer to “Forested Area”on the right. Use the spreadsheet to
help you answer the question below. Select from the drop-
down menus to answer the question.

Consider the two time periods: 2005 to 2010 and 2010 to
2015,

In terms of percentage points, which two countries had the
biggest change in the percent of forested area from one time
period to the other time period?

Answers: | Select ~ | and | Select -

FORESTED AREA

The spreadsheet below shows the amount of forested area as a percentage of the
total land area in each of the 15 countries in this data set. Data are shown for the
years 2003, 2010, and 2015.

Collﬂlll A Collmln B Collﬂlll [ Collﬂl[l D ComEm E Cohl_mn F ColumnG
>l =l bdl >l >l >l =

Country 2005 2010 2015 OX | OX | OX
India 2277 2347 2377 0.70 0.30 0.40
United States 33.26 337 33.85 0.44 0.15 0.29
Algeria 0.64 0.61 0.82 017 0.01 016
Peru 59.01 58.45 57.79 -0.56 -0.66 010
South Korea 64.42 54.08 63.69 -0.34 -0.39 0.05
Germany 32.66 3273 3276 0.07 0.03 0.04
Portugal 36.52 35.89 3525 -0.63 -0.64 0.01
Thailand 31.51 31.81 321 0.30 0.29 0.01
Senegal 45.05 44.01 4297 -1.04 -1.04 0.00
Lebanon 13.34 13.38 1342 0.04 0.04 0.00
Greece 2911 30.28 31.45 117 117 0.00
Kazakhstan 124 123 1.23 -0.01 0.00 -0.01
Panama 64.33 63.21 62.11 -1.12 -1.10 -0.02
Armenia "77 11.74 77 -0.03 0.03 -0.06
Colombia 54.26 52.85 5273 -1.41 -0.12 -1.29
Calculate

ColumnE ~ | | Subtract V‘ | ColumnF ~ | m

Mean

| Column '|

m Clear All

In the third item in this unit, students are again told to consider the data in terms of the two
time periods, 2005 to 2010 and 2010 to 2015, but this time they are asked to identify the
two countries that had biggest change in their percentage of forested area from one time
period to the other time period. Answers are given by selecting the country name from a
drop-down menu. The order that the countries are given in the response does not matter.

One possible solution method, which is reflected in the image above, is to perform the
following sequence of operations using the spreadsheet (Note that these two calculations
are the same two calculations that could also be performed in the second item in the unit):

o “Column C subtract Column B” (the results of that operation are shown in Column E),
which represents the change in the percentage of forested area for the time period

2005 to 2010.

o “Column D subtract Column C” (the results of that operation are shown in Column F),
which represents the change in the percentage of forested area for the time period

2010 to 2015.

Once the students have calculated the change in the percent of forested area for each
time period, they need to compute the change between the two time periods by performing
a calculation such as “Column E subtract Column F” (the results of that operation are
shown in Column G). Students may also find it helpful to sort the results in Column G.
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The two countries with the biggest change between time periods are India (0.40
percentage points) and Colombia (-1.29 percentage points). Full credit is given for
correctly identifying both countries, and partial credit is given for correctly identifying one

country.

This is a very difficult item that scaled at Level 6 on the proficiency scale. Partial credit was
also difficult at Level 5, and similar to the first item in the unit, requires doing the same
work that is needed for a full-credit response. Students again have to devise a strategy for
using the spreadsheet, which this time requires performing multiple operations, before
being able to evaluate the results with respect to the context. Possibly contributing to the
difficulty of this item is recognising that “biggest change” in this context does not just mean
an increase, and in fact, one of the correct answers is the country with the biggest
decrease in its percentage of forested area between time periods. However, unlike
previous items in this unit, the correct countries can still be identified even if the signs of
the results are reversed (due to the order that operations are performed) because students
are looking for change in term of the absolute value, and not interpreting the results
specifically as increases or decreases.

Unit Name - ltem #

Forested Area— CMA1610Q03

Content Area

Uncertainty and data

Process Interpret/Evaluate

Context Societal

Item Format Complex Multiple Choice - Computer Scored
Answers Full Credit: India and Colombia [in any order]

Partial Credit: Only one selection is correct (other selection is incorrect or missing)

Proficiency Levels

6 (full credit)
5 (partial credit)
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CMA161Q04

pisa2022 | HNENEEN

Forested Area FORESTED AREA
Question 4/ 4

The spreadsheet below shows the amount of forested area as a percentage of the total
land area in each of the 15 countries in this data set. Data are shown for the years

| + How to Use the Spreadsheet | 2005, 2010, and 2015.
Column A Column B ColumnC ColumnD ColumnE ColumnF ColumnG
Refer o “Forested Area” on the right. Use the spreadsheetl (o - il Ll Ll = ldl =
e e comy | ms | mo w5 | OX | 0X| X
Algeria 0.64 0.81 082
Helena claims that South Korea has more forested area than Armenia nr 4 n
any other country in this list for the years shown. Colombia 54.26 5285 5273
Germany 32 66 3273 3276
Is her claim supported by the data in the spreadsheet? Grecce = 58 i
O Yes India 277 2347 2377
) No Kazakhstan 1.24 123 1.23
Explain your answer. Lebanon 13.34 1338 13.42
Panama 64.33 53.21 62.11
Peru 59.01 56.45 57.79
Portugal 36.52 3589 35.25
Senegal 45.05 44.01 42,97
South Korea 64.42 54.08 63.69
Thailand 31.51 31.81 321
United States 3326 337 3385
Calculate

Column v| | Operation V| | Column v|

Mean __Column e m Clear All

This the final item in this unit. Students are presented with a claim that South Korea has
more forested area than the other 15 countries on the list for the years shown, and they
have to determine if the claim is supported by the data in the spreadsheet. As with some
other human-coded items, students need to select either “Yes” or “No,” and then provide
an explanation to support their selection. Unlike the previous items in the unit, this item
does not actually require manipulating the data in the spreadsheet to answer; however, all
the functionality of the spreadsheet is still available.

Even though South Korea is the country in this list with the highest percentage of forested
area for each of the three years, the correct answer is “No,” the claim is not supported by
the data in the spreadsheet. It is not possible to conclude anything about the actual
amount of forested area in these countries from the data shown because the data shown
are only the percentage of forested area. The total land area of each country is not also
given in the spreadsheet, and this “missing” information is necessary for determining the
actual amount of forested area in each country. That is, because the data shown are
percentages of different quantities (i.e., different land areas, which are not included in the
spreadsheet) they do not support the claim.
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This is a reasoning item that requires students to evaluate a claim by understanding the

limits of w
determine
determine

hat can be inferred from the available data. That is, students do not have to
if the specific claim about South Korea is actually true or not; they have to
if the claim is supported by the available data. It is a very difficult item that

scaled at Level 6. There is no partial credit response for this item. The coding rubric is
shown below. Note that the coding rubric does not contain an exhaustive list of responses.

However,

the sample responses in the rubric are representative of how students typically

respond to this item.

Unit Name - Item # | Forested Area - CMA161Q04
Content Area Uncertainty and data

Process Reasoning

Context Societal

Item Format Open Response - Human Coded
Answer Refer to rubric below
Proficiency Level 6

Full Credit

Code 1:

No Credit
Code 0O:

Code 9:

Selects No and explains that the spreadsheet only shows the percentage of
forested area OR that the spreadsheet does not show the total land area for
each country OR that the areas of the countries are different.

¢ [No] This is not true because the spreadsheet only shows the values as a
percentage.

e Her claim is not supported by the data in the spreadsheet because we do not
know the total area for each of the countries listed. [Selection of “No” is
implied here.]

e [No] Because the total area of each country is different.

e [No] Each country does not have the same area.

Other responses, including selecting No but giving an incorrect explanation or
without giving an explanation OR selecting Yes with or without an explanation.
e [No].

o [No] Because it is different.

e [Yes] South Korea has the greatest amount for each year shown.

Missing
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Unités publiées — Francais

Unit CMA123 - Systeme solaire

CMA123Q01

pisa2022 | MEEEEN

SYSTEME SOLAIRE

Systéme solaire
Question 1/2

. . Le tableau ci-dessous indigue la distance moyenne entre le Soleil et les planétes
Reférez-vous aux informations fournies sous « Systeme primaires, exprimée en unités astronomigues (ua).
solaire » a droite. Pour répondre & ia question, utilisez |a

fonction « glisser-déposer ». 1 ua est égale a 150 millions de kilométres environ

Ce schéma montre les distances moyennes séparant trois . 5
R . - 2 s Planéte Distance moyenne par
pIar_]f:tes. (Les planétes el le schéma ne sont pis aléchelle.) rapport au Soleil, en ua
>*~»\ >"~\ >"-«.\ Mercure 0,39
’ N\ A3Bua Y, 9.62 ua . R
I I —— 1 ] Vénus 0,72
\\ ’I \‘ ’f \\ ’J
“'/-—’ 7— - 7’ Terre 1,00
D'aprés les distances indiguées, quelles sont les planétes KBTS 2
représentées par ce schéma ? Faites glisser et placez les trois IR 590
bonnes planétes dans le bon ordre. Pour modifier une upler '
réponse, retirez d'abord la planéte choisie precedemment
Saturne 9,58
0 ‘ @ Uranus 19,20
Neptune 30,05
Mercure Vénus Terre
Mars Jupiter Saturne
Uranus Meptune

Ceci est le premier élément concernant I'unité Systéme solaire. Il n’y a pas de fenétre
d’introduction pour cette unité. Pour cette tache, les éléves doivent déterminer les trois
planétes qui ont les distances moyennes indiquées, en unités astronomiques (ua).. Pour
ce faire, les éléves doivent utiliser le tableau du stimulus qui donne la distance moyenne
de chaque planéte au Soleil, en ua. La bonne réponse, de gauche a droite, est Jupiter,
Saturne, Uranus.
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Pour répondre a la question, les éléves doivent glisser-déposer les planetes dans le
modéele (voir ci-dessous pour une image des planétes placées dans le modéle). Il n'y a pas
de fenétre d'introduction ou de pratique avant cet élément, mais des instructions sur la
facon de répondre et de modifier une réponse sont données explicitement dans le
chapeau de la question. Une réponse complete a été attribuée pour le placement correct
des trois planétes, et un crédit partiel a été accordé pour le placement correct de deux
planetes. Il s'agit d'un élément modérément difficile avec un crédit complet et partiel au
niveau 3 sur I'échelle de compétence.

Vous trouverez ci-dessous une image de ce a quoi ressemblent le chapeaude la question
et la zone de réponse apres que I'éleve a fait glisser et déposer les planetes a leurs
emplacements respectifs dans le modéle.

Systéme solaire
Question 1/2

Référez-vous auyx informations fournies sous « Systéme
solaire » a droite. Pour répondre & la question, utilisez la
fonction « glisser-déposer ».

Ce schéma montre les distances moyennes séparant trois
planétes. (Les planétes et le schéma ne sont pas & I'échelle)

- — —

,rL\\ ’>-\\ ’>"-.\
F \, 438 ua [ 9,62 ua / b
\ " g r‘—’t\ ]
L\ 7 ’ \! 7

Jupiter Saturne Uranus

- - -

D'aprés les distances indiguées, quelles sont les planétes
représentées par ce schéma ? Faites glisser et placez les
trois bonnes planétes dans le bon ordre. Pour modifier une

réponse, déplacez d'abord |a planéte précédemment choisie.

©d

Mercure Vénus Terre

Mars

Meptune
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Unité — Item #

Systéme solaire - CMA123Q01

Domaine mathématique | Quantité
Processus Interpréter et évaluer
Contexte Scientifique

Format de I'item

Choix multiples complexes - Score informatique

Réponse

Crédit complet : Les trois planétes sont correctement placées (de gauche a droite:
Jupiter, Saturne, Uranus)

Crédit partiel : Deux planétes sont correctement placées (l'autre planéte est
incorrecte ou manquante)

Niveaux de compétence

3 (Crédit complet)
3 (Crédit partiel)
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CMA123Q02

pisazo22  HBERER

Systéme solaire .
SYSTEME SOLAIRE

Question 2/ 2
Le tableau ci-dessous indigue la distance moyenne entre le Solell et les planétes
Reéférez-vous aux informations fournies sous « Systeme primaires, exprimée en unités astronomiques (ua)
solaire » & droite. Pour répondre a la question, cliquez sur 'un
des choix de réponse. 1 ua est €gale & 150 millions de kilométres environ.
En moyenne, combien de millions de kilométres y a-t-il Planéte Distance moyenne par
environ entre le Soleil et la planéte Neptune ? rapport au Soleil, en ua
5 millions de km Iercure 0,39
O 30 millions de km
) 180 millions de km YETE bz
O 4500 millions de km T 100
Mars 1,52

Jupiter 5.20

Saturne 958

Uranus 19,20

Neptune 30,05

Pour le deuxieme élément de cette unité, les éleves doivent déterminer approximativement
a combien de millions de kilomeétres la planéte Neptune se trouve du Soleil, un processus
qui nécessite la conversion des unités astronomiques en millions de kilométres. A partir du
stimulus, les éléves recoivent la conversion selon laquelle 1 ua correspond a environ 150
millions de kilométres, et ils peuvent lire dans le tableau que Neptune a une distance
moyenne du soleil de 30,05 ua. Pour déterminer la distance approximative de Neptune en
millions de kilométres, les éléves doivent multiplier 30,05 par 150. Cela donne un résultat
de 4 507,5, qui s’arrondit a 4 500 (millions de km). Il s'agit d'un élément de niveau 2 (plus
facile) pour les étudiants et qui ne nécessite que l'utilisation d'un processus de conversion
d'unités baseé sur les informations fournies.

Unité — Item # Systeme solaire — CMA123Q02

Domaine mathématique | Quantité

Processus Employer

Contexte Scientifique

Format de I'item Choix multiples simple - Score informatique
Réponse 4 500 millions de km

Niveau de compétence |2
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Unit CMA150 — Motif triangulaire

CMA150Q01

pisa2022 | MEEEEN

MOTIF TRIANGULAIRE

Motif triangulaire
Question 1/3

Alex a dessiné le motif suivant avec des triangles rouges et bleus.

Référez-vous aux informations fournies sous « Motif Les quatre premieres lignes du motif sont représentées ci-dessous.
triangulaire » a droite. Pour répondre & la question, cliquez sur
'un des choix de réponse.

Surles duare premiéres Janes g ot dlex. quel estie _
pourcentage de triangles bleus 7

O 375%
O 50,0 %
O 60,0%
O 625%

Il s'agit du premier élément de l'unité Motif triangulaireet il n'y a pas de fenétre
d'introduction. Pour cette unité, on présente aux €leves une série d'éléments liés & un
dessin qu'une personne a fait de rangées alternant des triangles rouges et bleus. Le
stimulus montre les quatre premiéres lignes du motif, et cette méme image est répétée
dans le stimulus des trois éléments de l'unité.

Pour le premier item, on demande aux éléves de calculer le pourcentage de triangles
bleus indiqués dans les quatre premiéres rangées du motif. Il y a six triangles bleus et 16
triangles au total, donc le pourcentage de triangles bleus est de 37,5 % (6 + 16 = 0,375). Il
s'agit d'un élément facile (niveau 1a) destiné a amener les éléves a réfléchir a la régularité
d’un motif en utilisant un algorithme simple avec toutes les informations affichées.
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Unité — Item # Motif triangulaire — CMA150Q01

Domaine mathématique | Quantité

Processus Employer

Contexte Scientifique

Format de I'item Choix multiples simples - Score informatique
Réponse 37,5%

Niveau de compétence | la
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CMA150Q02

pisazo22  HEEEER

MOTIF TRIANGULAIRE

Motif triangulaire
Question 2/ 3

Alex a dessing le motif suivant avec des triangles rouges et bleus.

Référez-vous aux informations fournies sous « Motif Les quatre premiéres lignes du motif sont représentées ci-dessous
triangulaire » a droife. Pour repondre a la guestion, cliquez sur
Fun des choix de réponse.

SIAX A e Cinqu‘éme wone 2 son mor el sera e _
pourcentage de triangles bleus sur l'ensemble des cing lignes
du motif ?

O 40,0 %
O 50,0 %
O 60,0 %
O 66,7 %

Le deuxiéme élément de I'unité s'appuie sur le premier élément en demandant a nouveau
aux éleves de calculer le pourcentage de triangles bleus, mais cette fois-ci, il est basé sur
cing rangées de motif. Comme la cinquieme rangée n'est pas illustrée, les éleves doivent
prolonger le motif d'une rangée pour déterminer de nouvelles valeurs pour le nombre de
triangles bleus et le nombre total de triangles. Avec cing rangées, le pourcentage de
triangles bleus est de 40,0 % (10 triangles bleus =+ 25 triangles au total).

Cet élément est destiné a étre facile et & amener les éléves a réfléchir a I'extension du
motif au-dela de ce qui est montré, mais pas a étendre le motif de sorte qu'elle nécessite
une généralisation. Il s'agit d'un élément de niveau 2, il est donc lIégerement plus difficile
gue le premier élément de l'unité, peut-étre parce qu'il nécessite de travailler avec une
partie du motif qui n'est pas illustré, mais qui reste un élément globalement facile pour les
éléves.
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Unité — ltem # Motif triangulaire — CMA150Q02

Domaine mathématique | Variations et relations

Processus Formuler

Contexte Scientifique

Format de I'item Choix multiples simples - Score informatique
Réponse 40,0%

Niveau de compétence | 2
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CMA150Q03

pisazo22 | HAEEEN

MOTIF TRIANGULAIRE

Motif triangulaire
Question 3/3

Alex a dessiné le motif suivant avec des triangles rouges et bleus.

Référez-vous aux informations fournies sous « Motif Les quatre premiéres lignes du motif sont representées ci-dessous
triangulaire » a droife. Pour répondre a la question, cliquez sur
'un des choix de réponse, puis tapez votre explication

Alexva sjouterplusieurs lgnes # son mott _

Il affirme que le pourcentage de triangles bleus dans le motif
sera toujours inferieur a 50 %.

Alex a-t-il raison ?

O Oui
O Non

Expliguez votre réponse.

Il s'agit du dernier élément de cette unité, et il sS'appuie sur les deux éléments précédents
pour a présent généraliser le modéle. La tache pour les éléves est d'évaluer une
affirmation selon laquelle le pourcentage de triangles bleus dans le motif sera toujours
inférieur a 50 % a mesure que d'autres lignes sont ajoutées. Les étudiants doivent
sélectionner « Oui » ou « Non » pour indiquer si l'affirmation est vraie ou non, mais ils
doivent également fournir une explication a I'appui de leur sélection. Il s'agit d'un élément
de raisonnement qui demande aux éléves d'analyser le motif pour reconnaitre une
relation entre le nombre de triangles rouges et le nombre de triangles bleus dans chaque
rangée, puis d'utiliser cette relation pour appuyer leur sélection.

La sélection correcte est que "Oui" I'affirmation est vraie.Une explication acceptable
reconnait que le nombre de triangles rouges dans chaque ligne sera toujours supérieur au
nombre de triangles bleus dans chaque ligne. Notez que les éléves peuvent formuler leur
réponse en indiguant soit que le nombre de triangles bleus est inférieur, soit que le
nombre de triangles rouges est supérieur, tant qu'il existe un langage indiquant que cette
relation est vraie pour chaque ligne. Les réponses a crédit partiel a cet élément se
concentrent généralement uniguement sur la premiere ligne, qui ne contient qu'un triangle
rouge, ou he communiguent pas clairement que la relation entre le nombre de chaque
triangle de couleur s'applique a chaque ligne.
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Il s'agit d'un élément codé par I'homme (la rubrique de codage est illustrée ci-dessous)
qu'il est difficile (niveau 5) pour les étudiants de fournir une réponse a crédit complet. Des
crédits partiels sont disponibles, mais cela reste modérément difficile (niveau 4) pour les
étudiants. Notez que la rubrique de codage ne contient pas une liste exhaustive des
réponses a tous les niveaux de crédit. Cependant, les exemples de réponses dans la
rubrique sont représentatifs de la facon dont les éléves répondent généralement a cet
élément.

Unité — ltem # Motif triangulaire — CMA150Q03
Domaine mathématique | Variations et relations

Processus Raisonner

Contexte Scientifique

Format de I'item Réponse ouverte - codée par I'humain
Réponse Reportez-vous a la rubrique ci-dessous

Niveaux de compétence | 5 (Crédit complet)
4 (Crédit partiel)

Crédit complet

Code 2 : Sélectionne « Oui » et fournit une explication acceptable sur la raison pour
laquelle il y aura toujours plus de triangles rouges (ou moins de triangles bleus).
[Une explication acceptable doit mentionner « sur chaque ligne » (ou utiliser une
formulation signifiant la méme chose).]

e llaraison, car il y a toujours un triangle rouge de plus que de triangles bleus
sur chaque ligne. [Sélection implicite du « Oui ».]

e [Oui] Il y aura toujours un triangle bleu de moins sur chaque ligne.

e [Oui] Sur chaque ligne, il y a un triangle rouge de plus que de triangles
bleus. [Quand la réponse ne précise pas « toujours », le bénéfice du doute
est accordé car cela est spécifié dans I'énoncé de la question.]

e [Oui] Parce que des triangles rouges sont aux extrémités de chaque ligne et
qu’a I'intérieur, des triangles rouges et bleus alternent. [Explication
acceptable qui établit qu'il y a plus de triangles rouges que de bleus sur
chaque ligne.]
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Crédit partiel

Code 1:

Sélectionne « Oui » et fournit une explication en partie correcte, mais

incomplete.

e [Oui] Parce que la premiére ligne n'a qu'un triangle rouge.

e [Oui] Il n'y a pas de triangle bleu sur la premiére ligne.

e [Oui] Il'y a un triangle rouge de plus que de triangles bleus. [La réponse ne
précise pas « sur chaque ligne ». Réponse a comparer avec le 3¢ exemple
du Code 2.]

e [Oui] Parce que des triangles rouges sont aux extrémités de chaque ligne et
que les bleus sont a l'intérieur. [Cette explication est incompléte, car elle ne
traite pas des triangles rouges qui sont a l'intérieur. Réponse a comparer
avec le 4¢ exemple du Code 2.]

Pas de crédit

Code 0 :

Code 9:

Autres réponses, y compris toute sélection de « Oui » avec une explication

incorrecte ou sans explication, OU toute sélection de « Non » avec ou sans

explication.

e [Oui] rouges = 62,5 % et bleus = 37,5 %. [/l s’agit du pourcentage de
triangles de chaque couleur sur les quatre premieres lignes.]

e [Oui]

Omission
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Unité CMA156 — Points

CMA156Q01

pisazo22 | HAEEEN

POINTS

Points
Question 1/ 1

L'équipe de basketball de Zedlande fait les gros titres du journal local.

Référez-vous aux informations fournies sous « Points » 4
droite. Pour répondre & la question, cliquez sur I'un des choix
de réponse, puis tapez volre explication.

ZEDLANDE INFO

Compte tenu de la moyenne des ecaris de poinis cette saison,
est-il possible que I'éguipe n'ait en réalité jJamais gagné un
match en menant de 19 points 7

L'équipe de basket remporte | 158

O oul le championnat !
© Nen = Victorieuse a chaque match
Expliguez votre réponse. de la saison

» Avec 19 points d'écart en
moyenne

L'écart de points est |a différence entre le nombre de peints marqués par
I'équipe gagnante et le nombre de points marqués par I'équipe perdante
lors d'un match

Ceci est l'unité Points qui est une autre unité a un seul élément, et sans fenétre
d'introduction. Pour cet article, les éléves recoivent un titre de journal sur une équipe de
basket-ball locale, qui note que I'équipe a remporté tous les matchs cette saison et qu'elle
a en moyenne une marge de victoire de 19 points cette saison. La définition de la marge
de victoire est également donnée dans le stimulus au cas ou si les étudiants ne sont pas
familiers avec le terme. La question est de savoir s'il est possible que I'équipe n'ait jamais
remporté un match en menant de 19 points étant donné que la marge moyenne de victoire
pour la saison est de 19 points. Il s'agit d'un €lément de raisonnement abstrait qui
demande aux éléves d'évaluer une conjecture en fonction de leur compréhension
conceptuelle d'une moyenne (c'est-a-dire une moyenne arithmétique). lls doivent
sélectionner « Oui » ou « Non » et fournir une explication a I'appui de leur sélection.
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La sélection correcte est "Oui" gu'il est possible que I'équipe n'ait jamais remporté un
match par 19 points, méme si 19 est la marge moyenne de victoire. Les éléves peuvent
répondre en reconnaissant que la moyenne n'a pas a faire partie de I'ensemble de
données, ou ils peuvent fournir un exemple d'ensemble de données qui a une moyenne de
19 mais qui ne contient pas 19 dans I'ensemble de données. Notez que pour cette
derniére approche, les éléves peuvent également fournir un contre-exemple basé sur une
valeur autre que 19 car cela représente toujours un raisonnement approprié dans ce
contexte. Par exemple, la moyenne arithmétique des ensembles de données 6, 9 et 15 est
10, méme si 10 ne fait pas partie de I'ensemble de données. Les réponses a crédit partiel
traitent de l'idée que certaines valeurs de I'ensemble de données doivent étre supérieures
et que certaines valeurs de I'ensemble de données doivent étre inférieures a la moyenne,
mais ne mentionnent pas explicitement que la moyenne ne doit pas nécessairement faire
partie de I'ensemble de données.

Il s'agit également d'un élément codé par I'homme (la rubrique de codage est illustrée ci-
dessous) auquel il est trés difficile pour les étudiants de fournir une réponse a crédit
complet (niveau 6 sur I'échelle de compétence). Il y a un crédit partiel disponible, mais qui
est aussi difficile (niveau 5 sur I'échelle). La nature abstraite de cette tdche peut avoir
contribué & la difficulté. Autrement dit, les éléves n'ont pas de valeurs numériques qu'ils
peuvent manipuler pour savoir ce qui s'est réellement passé, ils sont donc obligés de
raisonner en fonction de leur compréhension d'un concept afin de trouver un moyen
d'expliquer cela par rapport au contexte. Notez que la rubrique de codage ne contient pas
une liste exhaustive des réponses a tous les niveaux de crédit. Cependant, les exemples
de réponses dans la rubrique sont représentatifs de la fagon dont les éleves répondent
généralement a cet élément.

Unité — Item # Points — CMA156Q01
Domaine mathématique | Incertitude et données
Processus Raisonner
Contexte Sociétal
Format de l'item Réponse ouverte - codée par ’lhomme
Réponse Reportez-vous a la rubrique ci-dessous
Niveaux de compétence | 6 (Crédit complet)
5 (Crédit partiel)
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Crédit complet

Code 2 :

Sélectionne « Oui » et affirme ou montre, dans son explication, que la moyenne

ne doit pas nécessairement faire partie de la série de données.

o C’est possible, parce que la moyenne ne doit pas nécessairement étre l'une
des valeurs de la série de données. [Sélection implicite du « Oui ».]

e [Oui] Si les écarts de point donnent une moyenne de 19, il ne doit pas
nécessairement y avoir 19 points d’écart dans I'un des matchs. [Crédit
complet accordé pour « il ne doit pas nécessairement y avoir
19 points d’écart dans 'un des matchs ».]

¢ [Oui] Si une différence est de 16 points et l'autre de 22 points, la différence
moyenne est de 19 points, alors qu'aucune des différences n'était
de 19 points.

e [Oui] La moyenne des nombres 2, 4 et 9 est égale a 5. Pourtant, 5 ne
correspond a aucun de ces nombres.

Crédit partiel

Code 1:

Sélectionne « Oui » et fournit une explication en partie correcte, mais

incompléte.

e [Oui] C'est une différence moyenne, donc certains matchs ont été gagnés
avec plus de 19 points d'écart et d'autres avec moins de 19 points d'écart.
[Explication incompléte qui ne mentionne pas explicitement que 19 ne doit
pas nécessairement étre 'une des valeurs. Pour qu’'une réponse de ce type
puisse recevoir le crédit partiel, il faut qu’elle mentionne explicitement des
matchs remportés par plus de 19 points d’écart et par moins de 19 points
d’écart.]

Pas de crédit

Code 0 :

Code 9 :

Autres réponses, y compris toute sélection de « Oui » avec une explication
incorrecte ou sans explication, OU toute sélection de « Non » avec ou sans
explication.

¢ [Non] Elles doivent avoir gagné au moins un match en menant de 19 points.

e [Oui]

o [Oui] Parce que la moyenne correspond a 'addition de tous les écarts de
points de la saison, qu’on divise ensuite par le nombre de matchs joués cette
saison-la. [Cette explication n'est pas acceptable, car elle ne fait que décrire
comment calculer une moyenne.]

e [Oui] Parce que c’est juste une moyenne. [Ne donne aucune raison pour
laquelle une moyenne implique qu’il est possible qu’elles n’aient jamais
gagné un match en menant de 19 points.]

e [Oui] C'est une différence moyenne, donc certains matchs ont été gagnés
avec plus de 19 points d’écart. [Cette réponse n'est pas acceptable, car elle
ne mentionne pas de match remporté par moins de 19 points d’écart
explicitement.]

Omission
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Unité CMA161 — Superficie forestiére

Introduction

PISA 2022

Superficie forestiére
Introduction

Lisez I'introduction, puis cliquez sur la fléche « SUIVANT ».

SUPERFICIE FORESTIERE

Dans cette unité, vous devrez utiliser un tableur pour répondre a
des questions en rapport avec la situation suivante :

Une forét est un écosysteme ou
I'on trouve une diversité d'arbres,
de plantes et d'animaux.

L'étendue de la superficie
forestiére d'un pays peut évoluer
avec le temps.

Sur I'écran suivant, vous devrez vous exercer a utiliser le tableur.

Il s'agit de l'introduction de l'unité Superficie boisée, qui fournit aux étudiants des
informations générales sur le contexte de l'unité - la superficie de la zone boisée d'un
pays peut changer au fil du temps - et leur fait savoir qu'ils utiliseront un tableur pour aider
a répondre aux questions.
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Exercice

pisa2o22 | MEENER

Superficie forestiére SUPERFICIE FORESTIERE
Exercice Le tableur ci-dessous indique I'étendue de la superficie forestidre de 15 pays. exprimée
en pourcentage de la superficie tatale de leur teritoire. Les données concement les
Exercez-vous & utiliser le tableur avant de passer aux annces 2005, 2010 et 2013.
questions.
Colonne A Colonne B Colonne C Colonne D Colonne E Colonne F  Colonne G
Utilisez le tableur pour effectuer les trois actions suivantes. > = = = [id] [id] hdl
- Pays 2005 2010 2015 OX | OX | 29X
1. Trier une colonne.
. Algérie 0,64 0,81 0,82
= Cliquez sur le symbole &4 dans la colonne B, C ou D o
pour trier cette colonne par ordre croissant (du plus petit Allemagne 32,66 3273 32,76
au plus grand). Arménie 1,77 11,74 177
= Remarguez que toutes les autres colonnes sont alors Colombie 54,26 52.85 5273
aussi triees dans le méme ordre que cette colonne. Corée du Sud 6442 54.08 53.69
2. Effectuer un calcul Etats-Unis 33,26 337 3385
« Sélectionnez une colonne dans le premier menu Gréce R 2020 HeE
déroulant situé sous le tableur. Inde 2277 2347 2377
= Sélectionnez ensuite une opération dans le menu Kazakhstan 1,24 1,23 1.23
deroulant du milieu Lioan 13,34 1338 13,42
i SSct
. sgr;nu.;::ecuonnez une colonne dans le demnier menu Panama 6233 = 1
= Cliquez sur « Exécuter ». Pérou 5T E F
« Les résultats s'affichent dans la premiére colonne vide Portugal 36,52 35,89 3525
disponible. Sénégal 45,05 4401 4297
Thailande .5 3181 321
3. Afficher la moyenne d'une colonne
= Sélectionnez une colonne dans le menu déroulant situé Calcal
a coté de « Moyenne », sous le tableur.
= Cliquez sur « Exécuter ». Colonne | ‘ Opération « | | Colonne w |
= Le résultat s'affiche dans la cellule en bas de cette
colonne Moyenne Effacer tout

Cliquez sur = pour continuer.

Aprés la fenétre d'introduction, les étudiants arrivent sur une fenétrede pratique ou ils
doivent effectuer plusieurs actions pour se familiariser avec les fonctionnalités de la feuille
de calcul. Les actions comprennent le tri de n'importe quelle colonne, I'exécution d'un
calcul (addition, soustraction, multiplication ou division) avec les données de deux
colonnes et la génération de la moyenne de n'importe quelle colonne. Chaque action est
accompagnée d'instructions sur la fagon d'utiliser I'outil pour effectuer cette action, et
chaqgue action doit étre terminée avant que I'action suivante ne soit affichée (pour plus de
commodité, elles sont toutes affichées dans cette image). La fleche pour passer a I'écran
suivant ne devient active qu'une fois les trois actions terminées. Notez que les données
que les étudiants utilisent dans I'écran d'entrainement sont les mémes données que celles
utilisées dans l'unité.

Si les éleves ne savent pas quoi faire sur cet écran et sont inactifs pendant un certain
temps, un message contextuel apparait pour leur rappeler I'action qu'ils doivent effectuer.
Si une autre période d'inactivité s'écoule apres I'apparition du message contextuel, une
animation montre comment effectuer chaque action. Une fois toutes les animations
exécutées, les éléves peuvent passer a la fenétre suivante.
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Instructions

pisazozz | [HHEEER

Superficie forestiére ‘ SUPERFICIE FORESTIERE

S ETETS Le tableur ci-dessous indigue I'étendue de |a superficie forestiére de 15 pays, exprimée
Les instructions sur la facon d'utiliser le tableur sont en pourcentage de la superficie totale de leur territoire. Les données concement les
- ¢ années 2005, 2010 et 2015

disponibles pour chaque guestion.

Elles se trouvent dans le menu infitulé « Comment utiliser le Colonne A Colonne B Colonne C Colonne D Colonne E Colonne F Colonne G
tableur », que l'on peut afficher puis masquer. = o b L o o hd
Cliquez sur la barre ci-dessous pour afficher les instructions. Pays 2005 2010 2015 2 X 2 X I 4
Cliguez a nouveau sur la barre pour les masguer. Algérie 0.64 0.81 0.62

Comment utiliser le tableur Allemagne 32,66 32,73 32,76

1. Cliguez sur & pour trier une colonne par ordre croissant Arménie L g Y

(du plus petit au plus grand). Cliquez & nouveau sur cette Colombie 54,26 52,85 52,73
fleche pour trier la colonne par ordre decroissant (du plus Corée du Sud 64,42 64,08 63,60
FRIENISTE) Etats-Unis 33,26 337 3385
2. F'our'effectuer des calculs : 7 Grece 2011 30,28 3145
i. Sélectionnez une colonne dans le premier menu
déroulant. Inde 2277 2347 2377
ii. Sélectionnez une opération dans le menu déroulant du Kazakhstan 124 1,23 123
milieu. Liban 13,34 13,38 13,42
fii. S?Iecnonnez une colonne dans le demier menu Panama 5433 63.21 8211
déroulant -
iv. Cliquez sur « Exécuter ». Pérou 59,01 58,45 57.79
Les résultats s'affichent dans la premiére colonne vide Portugal i SR e
disponible. Sénégal 45,05 44,01 4297
3. Pour afficher Ia moyenne d'une colonne, sélectionnez une Thailande 31,51 31,81 321
colonne dans le menu deroulant et cliquez sur
« Exécuter ». Le résultat s'affiche dans Ia cellule en bas Caleul
de cette colonne.
4 Pour annuler une action dans une colonne, cliquez sur €2 Colonne v | | Opération  ~ | | Colonne v | w

5. Pour effacer toutes les données d'une colonne, cliguez sur

6. Pour effacer toutes les données du tableur, cliguez sur
« Effacer tout ».

Apres la fenétre de pratique, les étudiants arrivent a une fenétre d'instructions, qui leur fait
simplement savoir que les instructions d'utilisation de la feuille de calcul sont disponibles
dans chaque élément et peuvent toujours étre consultées en cliquant sur la barre avec le
texte, "Comment utiliser la feuille de calcul ”. Cliquer sur cette barre ouvre la liste des
instructions, comme indiqué ci-dessus. Un nouveau clic sur la barre ferme la liste des
instructions.

Comme pour I'écran d'entrainement, les étudiants ne sont pas autorisés a dépasser cet
écran tant gu'ils n‘ont pas exécuté l'action (c'est-a-dire ouvert les instructions). Encore une
fois, s'il y a une période d'inactivité, un message contextuel rappelle aux éléves l'action
gu'ils doivent effectuer. S'ils n‘exécutent toujours pas l'action, alors aprés une autre courte
période de temps, une animation se joue. Apres la lecture de I'animation, les éléves
peuvent passer au premier élément de l'unité.
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CMA161Q01

pisa2o22  HEEEER

Superficie forestiére SUPERFICIE FORESTIERE
Question 1/4 Le tableur ci-dessous indique I'étendue de Iz superficie forestiére de 15 pays, exprimée
en pourcentage de la superficie totale de leur territoire. Les données concernent les
y G t utiliser le tabl | années 2005, 2010 et 2015.
Colonne A Colonne B Colonne C Colonne D Colonne E Colonne F  Colonne G
Reéférez-vous aux informations fournies sous « Superficie Ld - = L4 - [idl [hdl
farestiere » a droite. Aidez-vous du tableur pour répondre a la
question ci-dessous. Pour répondre 4 chague guestion, P s Sl S 2 X 2 X 2 X
sélectionnez vos réponses dans les menus déroulants. Gréce 2911 3028 3145 2,34
Inde 2277 23,47 23,77 1,00
Dans le tableau ci-dessous, répondez a chaque question en Etats-Unis 33.26 37 3385 0.59
sélectionnant un pays dans le menu déroulant correspondant. Thailande 31,51 31,81 321 0,59
Algérie 0,64 081 082 018
Question Pays Allemagne 32,66 1273 3278 0,10
Quel pays a connu la plus grande Liban 13,34 13,38 13.42 0.08
hausse en points de pourcentage Aménie w7 |17a |7 Jomo
?
EIEATD CIAVE Kazakhstan 124 123 123 001
Quel pays n'a connu aucune Corée du Sud 64,42 64,08 63,69 -0,73
évolution globale entre 2005 Pérou 59,01 5845 57.79 -1.22
?
Eario? Porlugal 36,52 35,89 35,25 -1.27
Quel pays a connu la plus grande Colombie 54,26 52,85 52,73 -1.53
baisse en points de pourcentage Sénégal 505|401 |a2e7  |208
?
Gl NS GIANE Panama 64,33 63,21 62,11 22
Calecul
Colonne D « | | Soustraire | | Colonne B = |

Les données utilisées pour tous les éléments de cette unité sont la superficie forestiere en
pourcentage de la superficie totale des terres pour 15 pays pour les années 2005, 2010 et
2015, et ces données sont toujours dans les colonnes B, C et D, respectivement. Les
colonnes E, F et G sont toujours vides lorsque les éléves accedent pour la premiére fois a
chaque élément, et I'ordre par défaut des pays est alphabétique, en fonction de la fagon
dont les noms de pays sont traduits dans chaque langue. Notez que dans l'image ci-
dessus, les données ont déja été manipulées pour correspondre a la description de la
solution qui suit.

Le premier élément de I'unité demande aux éléves d'identifier, en termes de points de
pourcentage, les trois pays qui, entre 2005 et 2015, ont : le plus grand gain de leur
pourcentage de superficie forestiere, aucun changement global de leur pourcentage de
superficie forestiere, et la plus grande perte dans son pourcentage de superficie boisée.
Les réponses sont saisies dans chaque ligne du tableau via des menus déroulants
contenant le nom des 15 pays.
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Une méthode de solution possible, qui est reflétée dans l'image ci-dessus, consiste a
utiliser la feuille de calcul pour effectuer le calcul suivant : "Colonne D soustraire la
colonne B", qui soustrait le pourcentage de superficie boisée en 2005 du pourcentage de
superficie boisée en 2015 pour chaque pays. Les résultats de cette opération sont
présentés dans la colonne E. Ensuite, un étudiant peut choisir de trier les données dans la
colonne E pour faciliter l'identification de chaque pays.

Le pays avec le plus grand gain est le pays avec le plus grand résultat positif, qui est la
Gréce a 2,34 points de pourcentage ; le pays sans changement global est le pays avec
une différence de 0,00, c'est-a-dire I'Arménie ; et le pays avec la plus grande perte est le
pays avec le plus petit résultat négatif, qui est le Panama a -2,22 points de pourcentage.

Une réponse a crédit complet identifie correctement les trois pays et est mise a I'échelle
au niveau 5, ce qui signifie qu'il s'agissait d'une tache difficile pour les étudiants. Un crédit
partiel a été accordé pour l'identification correcte de deux pays, et il s'agissait toujours
d'une tache modérément difficile qui évoluait au niveau 4, ce qui n'est pas surprenant étant
donné que le crédit partiel nécessite toujours de faire le méme travail qu'une réponse a
crédit complet. Autrement dit, pour identifier correctement deux ou trois pays, les éleves
doivent déterminer quel(s) calcul(s) effectuer, comment utiliser la feuille de calcul pour les
effectuer, et enfin interpréter les résultats en fonction du contexte.

De plus, selon I'ordre dans lequel I'étudiant effectue le calcul, l'identification des pays peut
étre plus difficile. Par exemple, si I'éléve calcule « Colonne B soustraire Colonne D » (au
lieu de « Colonne D soustraire Colonne B »), alors le signe de chaque résultat qui apparait
dans la colonne E sera inversé (par exemple, Gréce = -2,34 et Panama = +2,22).
Cependant, sur la base de ces données, le pourcentage de la superficie forestiére de la
Grece a en fait augmenté pour chaque année indiquée, et le pourcentage de la superficie
forestiére du Panama a en fait diminué pour chaque année indiquée.

Unité — ltem # Superficie forestiere — CMA161Q01

Domaine mathématique | Incertitude et données

Processus Formuler

Contexte Sociétal

Format de I'item Choix multiples complexes - Score informatique

Réponse Crédit complet : Les trois pays sont correctement identifiés

(de la rangée du haut a la rangée du bas : hausse = Gréce;
aucune évolution globale = Arménie; baisse = Panama)

Crédit partiel : Deux pays sont correctement identifiés (I'autre
pays est incorrect ou manquant)

Niveaux de 5 (Crédit complet)
compétence 4 (Crédit partiel)
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CMA161Q02

pisazoze | HEHEEN

Superficie forestiére SUPERFICIE FORESTIERE
Question 2/ 4

Le tableur ci-dessous indique I'étendue de |a superficie forestiere de 15 pays,
exprimée en pourcentage de la superficie totale de leur territoire. Les données

» Comment utiliser le tableur ‘ concernent les années 2005, 2010 et 2015.

. Colonne A Colonne B ColonneC Colonne D ColonneE  Colonne F Colonne G
Référez-vous aux informations fournies sous « Superticie - il idl il Ll Ll L4l
forestiére » a droite. Aidez-vous du tableur pour répondre a
la question ci-dessous. Pour répondre & la question, cliquez FiE LD Ll L DX | HOX | 9X
sur I'un des cholx de réponse. Algérie 0,64 0,81 0,82 047 0,01

Allemagne 32,66 3273 32,76 0,07 0,03

Examinez les deux périodes suivantes - de 2005 & 2010, et Arménie n77 1,74 T -0,03 0,03
de 2010 & 2015. Colombie 54,26 52,85 5273 -1.41 -012
Quelle amrmation décrit correctement Févolution de la CofeduSud  |6442  |B408  |B3R9 | 024 |09
moyenne du pourcentage de la superficie forestiére pour ces Etats-Unis 33.26 37 3385 0,44 0,15
deux périodes ? Gréce 29,11 30,28 31,45 1,17 1,17
() L'évolution de la moyenne a été positive pour ces deux Inde = T e 0.70 0.30
périodes. Kazakhstan 1,24 1,23 1,23 -0,01 0,00

(O L'évolution de la moyenne a été négative pour ces deux Liban 13,34 13,38 1342 0,04 0,04
périodes. Panama 64,33 63,21 62,11 -1,12 -1,10

(O L'évolution de la moyenne a été la méme pour ces deux Pérou 59,01 5845 57,79 -0,56 -0,66
périodes. Portugal 36,52 35,89 3525 -0,63 -0,64

QO L'f-'}volution d§ la moyenne a été positive pour une Sénégal 45,05 44,01 4297 104 104
periode et negative pour rautre. Thailande 3151 31,81 321 0,30 0,29
3333 33,18 33,05 -0,15 -0,13

Calcul

Colonne D v| | Soustraire '| | Colonne C v|
Moyenne | Colonne D -| Effacer tout

Dans le deuxiéme élément de cette unité, on demande aux éleves de considérer les
données en termes de deux périodes, 2005 a 2010 et de 2010 a 2015, puis on leur
demande d'identifier I'énoncé qui décrit correctement le changement moyen du
pourcentage de superficie boisée pour chaque période.

Une méthode de solution possible consiste a demander au tableur de calculer la moyenne
des colonnes B, C et D et de remarquer qu'elle a diminué de 2005 a 2010 (de 33,33 a
33,18) et qu'elle a également diminué de 2010 a 2015 (de 33,18 & au 33.05). Etant donné
que la variation moyenne a diminué a chaque période, la bonne réponse est que « la
variation moyenne était négative pour les deux périodes ».

Les éleves peuvent également choisir d'effectuer une séquence d'opérations, telles que :

e « Colonne C soustraire la colonne B » (les résultats de cette opération sont indiqués
dans la colonne E), qui représente la variation du pourcentage de la superficie boisée
pour la période de 2005 a 2010.

e « Colonne D soustraire la colonne C » (les résultats de cette opération sont indiqués
dans la colonne F), qui représente la variation du pourcentage de la superficie boisée
pour la période de 2010 a 2015.

e Calculez la moyenne des colonnes E et F.
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Il s'agit d'un élément difficile qui correspond au niveau 5 sur I'échelle de compétences. Les
éléves doivent a nouveau concevoir une stratégie d'utilisation de la feuille de calcul, mais
cette fois, il y a plus de flexibilité dans la fagcon dont la feuille de calcul peut étre utilisée
avant d'avoir a interpréter les résultats. La difficulté de cet élément est peut-étre d'avoir a
interpréter correctement le « changement » dans le contexte du probléme, lorsque les
résultats peuvent étre positifs ou négatifs selon les opérations que I'éleve effectue et
l'ordre dans lequel il les exécute.

Unité — ltem # Superficie forestiere —= CMA161Q02

Domaine Incertitude et données

mathématique

Processus Interpréter et évaluer

Contexte Sociétal

Format de I'item Choix multiples simples- Score informatique

Réponse L'évolution de la moyenne a été négative pour ces deux périodes.
Niveau de 5

compétence
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CMA161Q03

pisa2022 | HHEEEN

Superficie forestiére SUPERFICIE FORESTIERE
Question 374 Le tableur ci-dessous indique I'étendue de la superficie forestiére de 15 pays,
exprimée en pourcentage de la superficie totale de leur territoire. Les données
» Comment utiliser le tableur ‘ concernent les annees 2005, 2010 et 2015.
Colonne A Colonne B Colonne C Colonne D Colonne E Colonne F Colonne G
Reférez-vous aux informations fournies sous « Superficie 5al W W W [ [ -
forestiére » & droite. Aidez-vous du tableur pour répondre &
la question ci-dessous. Pour répondre & Ia question, TS LT EL L NOX | OX | 9X
selectionnez vos réponses dans les menus déroulants Inde 22,77 2347 2377 070 030 0.40
Etats-Unis 33,26 337 33,85 0,44 015 0,29
Examinez les deux périodes suivantes - de 2005 & 2010, et Algérie 0.64 0.81 0.82 017 0.01 0.16
de 2010 a 2015, Pérou 59,01 58,45 57,79 -0,56 -0,66 0,10
Quels sont les deux pays qui ont connu la plus forte évolution Corée au Sud ek LB 552 034 039 0.05
du pourcentage de leur superficie forestiére, en points de Allemagne 32,68 3273 3278 007 003 004
pourcentage, d'une période a l'autre ? Portugal 36,52 35,890 35,25 -0,63 -0,64 0,01
. : : Thaflande 31,51 31,81 321 0,30 0,20 0,01
Réponses : ‘ Sélectionnez '| et | Sélectionnez " —
3énegal 45,05 44,01 4297 -1,04 -1,04 0,00
Liban 13,34 13,38 13,42 0,04 0,04 0,00
Gréce 29,1 30,28 3145 117 117 0,00
Kazakhstan 124 123 123 -0,01 0,00 -0,01
Panama 64,33 63,21 62,11 12 -1,10 -0,02
Arménie 1,77 74 "7 -0,03 003 -0,06
Colombie 54,26 52,85 5273 1,41 -0,12 41,29
Calcul
Colonne E v| | Soustraire v| | Colonne F v|
Mavenne | Colonne ~ | Effacer tout

Dans le troisieme élément de cette unité, on demande a nouveau aux éléves de
considérer les données en fonction des deux périodes, 2005 & 2010 et 2010 a 2015, mais
cette fois, on leur demande d'identifier les deux pays qui ont connu le plus grand
changement de pourcentagede leur superficie forestiére d'une période a l'autre. Les
réponses sont données en sélectionnant le nom du pays dans un menu déroulant. L'ordre
dans lequel les pays sont donnés dans la réponse n'a pas d'importance.

Une méthode de solution possible, qui est reflétée dans l'image ci-dessus, consiste a
effectuer la séquence d'opérations suivante a l'aide de la feuille de calcul (notez que ces
deux calculs sont les deux mémes calculs qui pourraient également étre effectués dans le
deuxiéme élément de l'unité) :

e « Colonne C soustraire la colonne B » (les résultats de cette opération sont indiqués
dans la colonne E), qui représente la variation du pourcentage de la superficie boisée
pour la période de 2005 a 2010.

e « Colonne D soustraire la colonne C » (les résultats de cette opération sont indiqués
dans la colonne F), qui représente la variation du pourcentage de la superficie boisée
pour la période de 2010 a 2015.
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Une fois que les éléves ont calculé le changement du pourcentage de la superficie boisée
pour chaque période, ils doivent calculer le changement entre les deux périodes en
effectuant un calcul tel que « Colonne E soustraire la colonne F » (les résultats de cette
opération sont affichés dans la colonne G). Les éleves peuvent également trouver utile de
trier les résultats dans la colonne G.

Les deux pays qui ont le plus changé entre les périodes sont I'Inde (0,40 point de
pourcentage) et la Colombie (-1,29 point de pourcentage). Un crédit complet est accordé
pour l'identification correcte des deux pays, et un crédit partiel est accordé pour
l'identification correcte d'un pays.

Il s'agit d'un élément trés difficile qui est échelonné au niveau 6 sur I'échelle de
compétences. Le crédit partiel était également difficile au niveau 5 et, comme pour le
premier élément de l'unité, nécessite de faire le méme travail que celui requis pour une
réponse a crédit complet. Les éléves doivent a nouveau élaborer une stratégie d'utilisation
du tableur, qui nécessite cette fois de réaliser plusieurs opérations, avant de pouvoir
évaluer les résultats par rapport au contexte. La difficulté de cet élément vient peut-étre du
fait de devoir reconnaitre que « le plus grand changement » dans ce contexte ne signifie
pas seulement une augmentation. En fait, les pays corrects sont ceux avec la plus forte
diminution de leur pourcentage de superficie boisée entre les périodes. Cependant,
contrairement aux éléments précédents de cette unité les pays corrects peuvent quand
méme étre identifiés méme si les signes des résultats sont inversés (en raison de l'ordre
dans lequel les opérations sont effectuées). En effet, les éléves doivent rechercher un
changement en termes de valeur absolue, et n’ont pas a interpréter les résultats
spécifiguement comme des augmentations ou des diminutions.

Unité - Item #

Superficie forestiére — CMA161Q03

Domaine
mathématique

Incertitude et données

Processus

Interpréter et évaluer

Contexte

Sociétal

Format de I'item

Choix multiples complexes - Score informatique

Réponse Crédit complet : Colombie et Inde [dans n'importe quel ordre]
Crédit partiel : Une seule sélection est correcte (l'autre sélection est
incorrecte ou manquante)

Niveaux de 6 (Crédit complet)

compétence 5 (Crédit partiel)
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CMA161Q04

pisazozz | HEHEEN

Superficie forestiére ‘ SUPERFICIE FORESTIERE

Question 4/ 4 Le tableur ci-dessous indique I'étendue de |a superficie forestiere de 15 pays, exprimée
en pourcentage de la superficie totale de leur territoire. Les donnees concement les
années 2005, 2010 et 2015

» Comment utiliser le tableur ‘

Colonne A Colonne B Colonne C Colonne D Colonne E Colonne F  Colonne G

Référez-vous aux informations fournies sous « Superficie v = = =l £ £d £d
" L o . .
e sas et | [ e | | aw | ws | 0% | 0X [ 0X
'un des choix de réponse, puis tapez votre explication. Algérie 0,64 081 0,82
Allemagne 32,66 3273 32,76
Héléna affirme que la Corée du Sud a une plus grande Arménie il L iy
superficie forestiére que tous les autres pays de cette liste Colombie 54,26 52,85 52,73
pour les années indiguées. Corée du Sud 54,42 64,08 63,69
Son affirmation correspond-elle aux données foumies dans le Etats-Unis 33,28 337 3385
tableur ? Gréce 29,11 30,28 3145
O oui Inde 2277 2347 2377
) Non Kazakhstan 1,24 1,23 1,23
Expliquez votre réponse Liban e 22 T
Panama 64,33 63,21 62,11
Pérou 59,01 58,45 57,79
Portugal 36,52 35,89 35,25
Sénégal 45,05 44,01 4297
Thailande 31,51 31,81 32,1

Calcul

o] (o] [camm ]

Ceci est le dernier €élément de cette unité. Les éléves sont confrontés a une affirmation
selon laquelle la Corée du Sud a plus de superficie boisée que les 15 autres pays de la
liste pour les années indiquées, et ils doivent déterminer si |'affirmation est étayée par les
données du tableur. Comme pour certains autres éléments codés par 'homme, les éleves
doivent sélectionner « Oui » ou « Non », puis fournir une explication pour appuyer leur
sélection. Contrairement aux éléments précédents de l'unité, cet élément ne nécessite pas
réellement de manipuler les données de la feuille de calcul pour répondre ; cependant,
toutes les fonctionnalités de la feuille de calcul sont toujours disponibles.

Méme si la Corée du Sud est le pays de cette liste avec le pourcentage le plus élevé de
superficie boisée pour chacune des trois années, la bonne réponse est "Non", l'affirmation
n'est pas étayée par les données du tableur. Il n'est pas possible de conclure quoi que ce
soit sur la superficie réelle de la superficie forestiére dans ces pays a partir des données
présentées car les données présentées ne représentent que le pourcentage de la
superficie forestiere. La superficie totale des terres de chaque pays n'est pas également
indiquée dans la feuille de calcul, et cette information « manquante » est nécessaire pour
déterminer la superficie réelle de la superficie forestiére dans chaque pays. Autrement dit,
parce que les données présentées sont des pourcentages de différentes quantités (c'est-
a-dire différentes superficies de terres, qui ne sont pas incluses dans la feuille de calcul),
elles ne corroborent pas l'allégation.
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Il s'agit d'un élément de raisonnement qui demande aux éleves d'évaluer une affirmation
en comprenant les limites de ce qui peut étre déduit des données disponibles. Autrement
dit, les étudiants n'ont pas a déterminer si l'affirmation spécifique sur la Corée du Sud est
réellement vraie ou non ; ils doivent déterminer si l'allégation est étayée par les données
disponibles. Il s'agit d'un élément tres difficile qui est échelonné au niveau 6. Il n'y a pas de
crédit partiel pour cet élément. La rubrique de codage est illustrée ci-dessous. Notez que
la rubrique de codage ne contient pas une liste exhaustive des réponses. Cependant, les
exemples de réponses dans la rubrique sont représentatifs de la facon dont les éleves
répondent généralement a cet élément.

Unité — Item # Superficie forestiére - CMA161Q04
Domaine mathématique | Incertitude et données

Processus Raisonner

Contexte Sociétal

Format de I'item Réponse ouverte - codée par I'humain
Réponse Reportez-vous a la rubrique ci-dessous
Niveau de compétence |6

Crédit complet

Code 1: Sélectionne « Non » et explique que le tableur n'indique que le pourcentage de
la superficie forestiére OU que le tableur n'indique pas la superficie totale de
chaque pays OU que les superficies des pays sont différentes.
¢ [Non] Ce n'est pas vrai, car le tableur n'indique que les valeurs en

pourcentage.

e Son affirmation ne correspond pas aux données fournies dans le tableur car
on ne connait pas la superficie totale de chacun des pays de la liste.
[Sélection implicite du « Non ».]

¢ [Non] Parce que la superficie totale de chaque pays est différente.

¢ [Non] Chaque pays n'a pas la méme superficie.

Pas de crédit

Code 0 : Autres réponses, y compris toute sélection de « Non » avec une explication
incorrecte ou sans explication, OU toute sélection de « Oui » avec ou sans
explication.

e [Non]

e [Non] Parce que c'est différent.

e [Oui] La Corée du Sud a la plus grande étendue pour chaque année
indiquée.

Code 9: Omission
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